Enkopings BS
Partavling 2021-11-03

Partavling, 7 bord, 14 par.

Antal brickor: 26. Medel: 156.0.

Plac Par Poang % Namn MID Klubb
1 10 198 63.46 Hakan Lindh - Kjell Staffas 6055 34308 Enkopings BS - Malungs BK
2 1 197 63.14  Fredrik Smitt - Magnus Haeger 93591 18165 BK S:t Erik - Enkdpings BS
2 8 197 63.14  Lewis Hamilton - Mickey Maretics 59407 50249 Sandvikens BK - Enkopings BS
4 11 182 58.33 Johan Ostman - Thomas Johnsson 21811 16635 Enkoépings BS
5 2 171 54.81 Christer Elofsson - Séren Akerman 90691 47291 Enkdpings BS
5 7 171 54.81 Thomas Ekblom - Ola S6dergran 32214 9994  Enkopings BS
7 9 148 47.44  Barbro Sandberg - Bertil L6nnemo 51979 89940 Enképings BS
8 13 144 46.15 Eva-Lena Lindh - Anette Maretics 23277 24689 Enkopings BS
9 4 139 44.55  Christer Andersson - Harry Gronholm 90689 89983 Enkdpings BS - PRO Enkdping Bridge
10 3 137 43.91 Stefan Giertz - Ronny Erixon 88491 88442 Enkodpings BS
11 14 136 43.59 Lennart Schenning - Kerstin Schenning 82162 82161 Enkopings BS
12 12 128 41.03 Bo Engdahl - Gunbritt Bosell 64711 64710 Enkopings BS
13 5 126 40.38  Magnus Hurulund - Séren Holst 50190 16634 Enkopings BS
14 6 110 35.26  Lars Boivie - Inger Jonsson 66792 66794 PRO Enkoping Bridge
1 4 DKn1074 Basta kontrakt 2 oE Basta kontrakt 3 4 E93 Basta kontrakt
Nord v K6 64 N =980 Ost vE42 44 O =-420 Syd v Kn876 6NT O =-1440
Ingen ¢ 64 NS + D9764 ov ¢ 762
#E1074 & ¢ v & NT #KKn43 & ¢ v & NT #1042 & ¢ v & NT
465 493 N7 8 8 129 4 KDKn3 4109762 N7 76 35 & DKn2 « K764 N43111
vD8542 vKn9 S 7 8 8 129 v Kn9 vD1075 S776 35 vKD1094 vE52 S43111
¢+ K108 ¢ DKn73 O6 5414 ¢ E105 ¢ KKn3 O56 7 107 + KD3 ¢ EKn4 O 9 10121112
#Kn65 #KD983 V65414 #E1085 &2 V56 7 108 #DKn #E93 vV 9 10111011
» EK82 4854 #1085
vE1073 v K863 v3
¢ E952 +82 410985
*2 «D976 *K8765
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
7 4 44 N+2 &K 480 11.0 10| 3 2 2NN= ¢*4 120 120 00| 4 3 6NV-1 43 100 12.0 0.0
8 13 44 N+2 &K 480 11.0 10| 6 10 24 O+1 ¢2 -140 100 20| 8 5 4v V= *2 -620 9.0 30
14 1 44 N+1 49 450 80 40| 7 4 24 0+2 +8 -170 6.0 6.0(13 6 4v V= 2 -620 9.0 3.0
3 2 44 N= *K 420 6.0 60| 9 11 24 O+2 ¢8 -170 6.0 6.0[10 12 3NV+1 &4 -630 6.0 6.0
12 5 34 N+2 v 200 40 8.0(14 1 24V+2 7 -170 6.0 6.0 7 11 5v V= *7 -650 40 8.0
6 10 34 S+1 +8 170 20 100( 8 13 2¢ N-2 v7 -200 10 11.0] 9 1 3NV+2 &T -660 2.0 10.0
9 11 44 N-1 vJ -50 0.0 120(12 5 24 V+3 &4 -200 10 110|114 2 6NV= a A -1440 0.0 12.0
4 & K1087 Bésta kontrakt 5 210 Bésta kontrakt 6 & Kn653 Bésta kontrakt
Vast v 98543 4¢ V =-130 Nord v DKn8 4v N =620 Ost v EKn 34 S =110
Alla +64 NS ¢ 42 ov +8
»E8 & ¢ v & NT #E965432 & ¢ v & NT #D109743 & ¢ v & NT
495 « D63 N338765 487632 4K94 N 107 107 7 4E72 41084 N9 5685
vEK v 1062 S33875 v 952 v764 S 107 107 7 v6542 v973 S 95685
¢ ED932 +K85 O 10105 5 8 ¢ E97 ¢ KD653 026266 ¢ E107 ¢ KDKn92 0386538
#KDKn6 #10942 V 10105 5 8 #KKn 4108 V262¢6F¢6 #KKn2 #E8 V386538
& EKn42 & EDKn5 4 KD9
v DKn7 v EK103 vKD108
+ Kn107 + Kn108 ¢ 6543
#753 D7 #65
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
10 12 2v N= *4 110 120 00|10 2 3NS+3 43 690 11.0 10|10 2 24 N= +K 110 12.0 0.0
4 3 3¢ V+l 48 -130 6.0 6.0[11 13 3NS+3 46 690 11.0 10| 8 12 1vO= +8 -80 10.0 2.0
7 11 1¢ V+3 v9 -130 6.0 60| 9 6 3NS+1 42 630 80 40| 1 7 240= »6 -90 50 7.0
8 5 1l¢e V43 v9 -130 6.0 60| 1 7 3#4S+3 46 170 6.0 60| 5 4 2¢0= *6 -90 50 7.0
9 1 1le V+3 @A -130 6.0 6.0(14 3 34N+l ¢K 130 40 80| 9 6 2¢ V= *A -90 50 7.0
13 6 1¢ V+3 &A -130 6.0 6.0| 8 12 3NS-1 46 -100 2.0 10011 13 2¢ O= *5 -90 50 7.0
14 2 INV+3 v9 -180 0.0 120 5 4 5#N-2 ¢K -200 0.0 120(14 3 INO+1 T -120 0.0 12.0
7 4D Basta kontrakt 8 4 EDKn1093 Basta kontrakt 9 49632 Basta kontrakt
Syd vKn1083 44 O =-620 Vast v EDKn8 64 N D -2-300 Nord v KKn4 34 O =-110
Alla ¢ 7532 Ingen +5 ov + E832
#EK92 & ¢ v & NT «D10 & ¢ v & NT *K7 & ¢ v & NT
& K54 « E9876 N6 4737 4654 .- NO 18 102 4 K1087 #E5 N4 7766
v7 vED52 S6 4737 v5 v K643 S 01 8 102 v 63 v D752 S47766
¢ DKn10 ¢+ E964 07 9 6 106 + D103 ¢ EK642 O 12115 3 6 ¢+ KD ¢ Kn104 095676
#D108643 %- V78696 #EKN8753 #K962 V 12115 3 6 #E9862 #D1054 VI9567F€6
4 Kn1032 & K872 « DKn4
v K964 v 10972 vE1098
+ K8 + Kn987 49765
#Kn75 *4 #Kn3
Par  Kontr ut Res Poéang Par  Kontr ut Res Poéang Par  Kontr ut Res Poéang
11 3 44 0-2 v4 200 11.0 10| 9 13 44 N= *6 420 100 20| 7 6 2NO-3 +8 300 12.0 0.0
12 1 44 0-2 +38 200 11.0 10|10 7 44 N= ¢ A 420 100 20|11 8 INO-1 4Q 100 100 20
6 5 440-1 38 100 6.0 6.0(14 4 44 N= +K 420 100 20(12 4 INO= vT -90 8.0 40
9 13 44 O-1 &5 100 6.0 6.0[(11 3 34 N+1 ¢K 170 6.0 60 3 9 2&4V+l 3 -110 50 7.0
14 4 44 0-1 v6 100 6.0 60| 6 5 64V-1 s A 50 40 80(14 5 2&4V+1l 3 -110 50 7.0
10 7 340+1 v4 -170 2.0 100 2 8 44DN-1 ¢K -100 20 10.0({10 1 INV+1l 6 -120 1.0 11.0
2 8 44 0= v6 -620 0.0 12012 1 54V= s A -400 0.0 120(13 2 INV+1 3 -120 1.0 11.0
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10 4« E1096 Basta kontrakt 11 48743 Basta kontrakt 12 4 EDI10 Basta kontrakt
Ost v D842 3v S =140 Syd v 108 3NT S =400 Vast vK 5v V =-450
Alla + KD3 Ingen 4 652 NS + 109632
»K5 & ¢ v & NT #EK72 & ¢ v & NT #9863 & ¢ v & NT
«KD7  4Kn843 N9 6977 « DKn109 K62 N 10106 7 9 4754 &« KKn92 N87 234
v 107 v EKn9 S96 977 v DKn2 v 96543 S 10106 7 9 vD107643 v EKn82 S77 224
¢ E8542 ¢ Kn1096 047 366 ¢ 1074 ¢ EKn O3 366 4 ¢ KKn5 +E8 O5 5 11107
D106 #Kn4 V47366 #1094 #DKn5 V 33654 &5 #1072 vV 55 11107
52 «E5 # 863
v K653 v EK7 v 95
*7 + KD983 +D74
#E98732 863 #EKDKn4
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
14 5 34 0-3 ¢7 300 120 00| 1 3 3NS= +Q 400 11.0 10| 1 3 1vV+3 T -170  10.0 2.0
7 6 29 N+2 ¢ 170 80 40| 8 7 3NN= 4 Q 400 11.0 10(13 5 2vV+2 ¢2 -170  10.0 2.0
12 4 2v S+2 v7 170 80 4011 2 INS+2 49 150 6.0 6.0(14 6 3vV+l &9 -170  10.0 2.0
13 2 2vS+2 +A 170 80 40(12 9 INS+2 A 150 6.0 60| 4 10 3vV+2 6 -200 6.0 6.0
3 9 1vS+2 &K 140 40 8.0(14 6 INS+2 49 150 6.0 6011 2 4v V= *T -420 3.0 9.0
10 1 34S-= vT 110 20 100(13 5 2¢v O-1 &A 50 20 10012 9 4vO= *A -420 3.0 9.0
11 8 4v S-1 s K -100 0.0 120( 4 10 4¢ S-1 vQ -50 0.0 120 8 7 4vV+1l 2 -450 0.0 12.0
13 s E7 Bésta kontrakt 14 #9762 Bésta kontrakt 15 46 Bésta kontrakt
Nord vD9 3NT N =600 Ost v E10853 6NT S =990 Syd v EKKn109642 64 V D -4 800
Alla + Kn1094 Ingen ¢E NS + D7
+#KD1094 & ¢ v & NT #EKn3 & ¢ v & NT *K4 & ¢ v & NT
494 «4DKn1086 N 8 9 7 5 9 ~Kn « D10854 N 126 121012 4K10432 #4EKn75 N 104 125 9
v3 v KKn764 S897509 v D976 va S 126 121012 v 875 vD S 105 125 9
+ EK76 +83 O5 467 4 ¢ KD8542 ¢ Kn73 005131 + K963 ¢ Kn1042 028081
#E87532 #Kn V54674 *K2 #9764 V15131 »7 #D1032 V28081
& K532 » EK3 4 D98
v E10852 v KKn2 v3
¢ D52 41096 ¢ E85
*6 #D1085 #EKN9865
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
2 4 3¢V-3 *K 300 120 00| 1 6 4y N+1 44 450 100 20|10 9 6v N= 4A 1430 12.0 0.0
1 6 INN+2 v4 150 100 20| 2 4 4v N+l 3 450 100 20| 1 11 4vy N+3 vJ 710 100 2.0
9 8 2NS= *2 120 70 50(13 10 4vy N+1 3 450 100 20| 2 7 4vy N+2 A 680 7.0 5.0
14 7 INN+1 «Q 120 70 50| 9 8 1vyN+4 3 200 6.0 6.0[(13 4 4vy N+2 &A 680 7.0 50
13 10 24 O-1 6 100 40 80(12 3 2¢vN+2 +3 170 40 80|14 8 4y N+1 ¢J 650 40 8.0
5 11 3NS-2 3 -200 1.0 11.0(14 7 4vy N-1 ¢ -50 20 100| 6 12 3vy N+2 ¢4 200 2.0 10.0
12 3 2NS-2 *A -200 1.0 11.0| 5 11 3vyDN-2 +¢J -300 0.0 120 3 5 6y N-1 &A -100 0.0 12.0
16 4 EKn976 Basta kontrakt 17 4543 Basta kontrakt 18 4 8654 Basta kontrakt
Vast v Kn5 64 N =980 Nord v 543 3¢ OD-1100 Ost vE108 5¢ SD-1-200
oV + Kn632 Ingen + K NS ¢ D42
*K9 & ¢ v & NT #EKKn953 & ¢ v & NT #654 & ¢ v & NT
«D4 532 N 126 10127 « DKn7 « E92 N8 4876  KKn2 «ED10973 N 9 104 3 6
v10763 vES8 S 126 10127 vKn v KD96 S 84876 vKDKn9763 v2 S 9 106 3 6
¢ KD105 ¢ E9874 017 213 ¢ EDKNn1094 ¢ 762 O48466 ¢- ¢ EKn75 O3 37 107
#D43 #852 V17215 D74 #1082 V 48466 #Kn109 #83 vV 327 107
4 K108 & K1086 a-
v KD942 vE10872 v54
.- 4853 + K109863
#EKN1076 *6 #EKD72
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
2 7 44 N+2 &8 480 120 00| 7 13 2v S= +Q 110 120 00| 1 5 44DO-2 #A 300 120 0.0
1 11 44 N+1 ©vA 450 100 20| 2 12 3¢ V-2 *A 100 100 20| 7 13 54 O-1 #A 50 9.0 3.0
10 9 44 N= ¢ A 420 70 50 4 6 2+ V-1 *K 50 70 50(14 9 44 0-1 #A 50 9.0 3.0
13 4 44 N= vA 420 70 50(14 9 3¢ V-1 *A 50 70 50| 2 12 44 O= *Q -420 40 8.0
6 12 2v S+1 K 140 40 80| 1 5 3vS-2 *4 -100 40 80| 4 6 4v V= +Q -420 40 8.0
3 5 3NN-2 +4 -100 10 11.0|11 10 3¢ V= *K -110 2.0 10.0(11 10 4v V= +Q -420 40 8.0
14 8 3NN-2 *4 -100 1.0 110 3 8 3vDS-2 +A -300 0.0 120 3 8 44 O+1 &K -450 0.0 12.0
19 4105 Bésta kontrakt 20 4« Kn8 Bésta kontrakt 21 4105 Bésta kontrakt
Syd v KD876532 7v SD-5-1100 |Vast v 63 34 V =-140 Nord v K873 44 O =-420
oV * K7 Alla + KKn532 NS + K753
&K & ¢ v & NT #D1095 & ¢ v & NT #D32 & ¢ v & NT
« EK « DKn976 N11811 «D10 « E76432 N576 47 4KD94 4 EKN632 N376 25
vE vKn S11811 vED108 v95 S57647 vEKn10 vD64 S37625
¢ EKn1084 ¢ 932 O 12115 1212 ¢D 49864 0857965 +10 ¢ Kn2 O 106 6 107
#DKn962 #E875 V 12115 1212 #EK7632 #8 V857895 #E9876 #K104 V 106 7 107
#8432 & K95 87
v 1094 v KKn742 v 952
+ D65 + E107 + ED9864
#1043 #Kn4 #Kn5
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
2 6 4e V= vK -130 120 0.0| 3 13 44 O-3 ¢7 300 11.0 10| 9 2 44 0-1 &J 50 120 0.0
4 9 AvyDN-2 &A -300 100 20| 4 9 3NV-3 v6 300 11.0 10(13 12 44 O= *J -420 100 2.0
3 13 5& V= vK -600 70 50 8 1 340-1 &J 100 80 40 4 1 440+1 <A -450 6.0 6.0
5 7 5&V= + K -600 70 50| 5 7 3&V= +3 -110 50 70| 6 8 44 0+1 ¢A -450 6.0 6.0
8 1 5&4V+l vK -620 40 8.0(12 11 3&V= +5 -110 50 7.0(14 11 44 O+1 &J -450 6.0 6.0
12 11 44 O+1 ¢5 -650 20 100 2 6 24 V+1l v6 -140 1.0 11.0| 3 7 44 O+2 +A -480 1.0 11.0
14 10 64aDO= *T -1660 0.0 12.0(14 10 34 O= *] -140 1.0 11.0| 5 10 44 O+2 +A -480 1.0 11.0
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22 4 ED1074 Basta kontrakt 23 4 EKD106 Basta kontrakt 24 D5 Basta kontrakt
Ost v Kn105 44 S =420 Syd v76 2NTV =-120 Vast v DKn52 2NT N =120
ov + K98 Alla 4963 Ingen + EK102
108 & ¢ v & NT *732 & ¢ v & NT #Kn107 & ¢ v aN
#983 » Kn65 N 8 107 108 4732 » Kn9854 N46 655 4 KKn643 472 N6 6 758
vKD942 vE73 S 8 107 108 vDKnl10 vE S46655 vEK103 v86 S66 76 8
¢+Kn753 ¢D 0516 22 + D85 ¢ EKn10 097788 ¢- +D987643 0O 6 7 5 6 5
*7 #KKn6543 V 5 1 6 2 2 #EKD8 #Kn654 V97488 +KD64 *52 V675675
4 K2 a- «E1098
v 86 v K985432 v974
+ E10642 ¢ K742 ¢ Kn5
#ED92 «109 #E983
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
13 12 24 N+2 ¢Q 170 120 00| 4 8 44DO-3 T 800 120 0014 12 2NV-4 +K 200 12.0 0.0
3 7 24 N+1 +Q 140 100 20| 1 13 44 0-3 v2 300 100 20|10 3 INS+l1 3 120 100 20
4 1 20 S+1 &7 110 70 50 5 2 3NV-1 & A 100 70 50| 6 11 44 V-2 +A 100 .0 50
14 11 3¢ S= *7 110 70 50(10 3 3NO-1 v9 100 70 50| 7 9 3a4V-2 +A 100 .0 50
5 10 2¢ S= *7 90 40 80| 7 9 2vS-1 #A -100 40 80| 1 13 INS= 3 90 .0 80
6 8 24N-1 ¢Q -50 10 110| 6 11 24 O= v2 -110 20 100 4 8 34V-1 &J 50 .0 10.0
9 2 3¢S-1 &7 -50 10 11.0|14 12 3vS-3 #A -300 0.0 120( 5 3#DS-2 vK .0 120
25 &D Bésta kontrakt 26 4 D2 Bésta kontrakt
Nord v KD83 4¢ N =130 Ost vED5 34 N =140
ov + E874 Alla + Kn87654
#E1094 * 0V *EK LI AN
4K8762 4 EKn93 N 5 109 4 +1065 #E98 N79709
vE9 v 1042 S 5 109 4 v Kn2 vK108763 S 7 8 7 8
+3 ¢ D952 08339 ¢ KD109 3 06 454
#Kn8732 #K6 vV 8339 #Kn432 #D106 V6454
#1054 # KKn743
v Kn765 v 94
¢ KKn106 ¢E2
«D5 #9875
Par Kontr Ut Res Poang Par Kontr Ut Res Poang
11 4 4v S= +3 420 120 00| 2 1 2¢vV-3 #A 300 12.0 0.0
8 10 44DO-1 +6 200 100 20|11 4 2¢v0-2 +A 200 100 20
7 12 2v N+1 a7 140 70 50| 8 10 3¢ N= *6 110 8.0 4.0
14 13 2v N+1 5 140 70 50|14 13 2¢ N= *6 90 6.0 6.0
5 9 2¢ N+2 %6 130 40 80| 6 3 1vO= ¢ A -80 40 8.0
6 3 3¢S-1 ©vA -50 20 100| 7 12 3¢ N-1  +3 -100 2.0 10.0
2 1 24V+2 9K -170 00 120| 5 9 5¢ N-3 A -300 0.0 120
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